residual

of frame 0, mean = 0.5835379958152771 +- 13.12650203704834
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residual of frame 1, mean = -4.541177749633789 +- 9.967302322387695
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residual of frame 2, mean = 0.8239968419075012 +- 6.883697986602783
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residual of frame 3, mean = -2.0719563961029053 +- 6.8242573738098145
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residual of frame 4, mean = -0.3132871985435486 +- 6.812088489532471
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residual of frame 5, mean = 1.3417327404022217 +- 6.823907852172852
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residual of frame 6, mean = -2.118847131729126 +- 6.942288398742676
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residual of frame 7, mean = -1.7305340766906738 +- 6.815079689025879
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residual of frame 8, mean = -0.3152727484703064 +- 6.8090972900390625
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residual of frame 9, mean = -0.05571761354804039 +- 6.787090301513672
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residual of frame 0 - 1, mean = 5.124711513519287 +-12.218294143676758
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residual of frame 2 - 3, mean = 2.8959507942199707 +- 9.825713157653809
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residual of frame 3 - 4, mean = -1.7586678266525269 +- 9.574265480041504
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residual of frame 4 - 5, mean = -1.6550202369689941 +- 9.662851333618164
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residual of frame 5 - 6, mean = 3.4605796337127686 +- 9.760555267333984
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residual of frame 6 - 7, mean = -0.38831090927124023 +-9.86311149597168
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residual of frame 7 - 8, mean = -1.4152610301971436 +- 9.566720008850098
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residual of frame 8 - 9, mean = -0.25955525040626526 +- 9.636553764343262
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0.5284330248832703 +- 9.70051097869873

dual of frame 9 - 10, mean

resi

3500

3000

2500

2000

1000

500




